DDE SH2540 (apT. SH2540)

Ne| HanmeHoBaHve Kon-so | ApTuKkyn
1 | Pyuka-pykositka 1 Q874638PH02
2 1
3 | Kpblwwka 1 Q8746140Y29R
4 | BuHT M4x16 16
5 | laitka 6apaluek 1 A8744650001R
6 1
7 | BuHt M4x12 4
8 | [lpuratenb an1. nepemeHHOro Toka 1 2AH20002R
9 | MpOMLUNT HUXKHAA YacTb 1 Q874D960B25R

10 | BuHT M5%20 6

11 1

12 | Wkus 1 A8742040001R

13 1

14 | PemeHb 10PJ375 1 X8740940001R

15 | MpoMmLWT BepXHsis YacTb 1 Q8742800B25R

16 | MopwwmnHmk 6003ZZ 1

17 | MopgwunHuk 62977 1

18 14

19 1

20 | AganTep HoXa 1 J4340000002R

21 | Hox DDE Ha namenbuntens 1 J2420000111R

22 1

23 | BonT KpenneHus Hoxka M8x25 8.8 1 J0010001271R

24 | Kopnyc wutekepa 1 Q8740430H13R

25 | Lltekkep Bunka 16A 250V 1 D1AJ20Z2001R

26 | 3awenka wrekepa 1 Q8749770H13R

27 | MpyxuHa 3awenkm 1 J8740360001R

28 1

29 | Kopnyc nepefHas YacTb 1 A8747870001R

30 [Hampasnsamwomuas 1 L8740580001R

31 | Kopnyc 3agHsa yacTb 1 Q874D490Y29R

32 | Bbikntoyatenb 1 D3098000005R

33 1

34 1

35 1

36 2

37 | Mnara 1 D2874000001R

38 | BuHT M4x16 2

39 1 G8740360001

40 | Croiika ana konec 1 J0350000135R

41 | Ocb 1 J0090000409R

42 | Koneco 2 Q312F471H02

43 | KpbllKa 2 Q874D68PY29

44 2

45 | Tonkatenb 1 Q874T69PH02

% >
ra\
L™

DYNAMIC DRIVE EQUIPMENT

DDE SH2540 (apt. SH2540)

Technical department

Ass

embly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 1




